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3. What do you use CPCTCforina prcof‘-’

Tell how the triangles are cangruent (555, SAS, ASA, AAS, or HL) if you want to state the given segments or
angles congruent. BE CAREFUL....YOU DON'T USE THOSE GIVEN SEGMENTS OR ANGLES TO HELP GET YOUR
ANSWERH
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Match each statement to its correct congruency method at the 'right.

1. Right triangles that have a pair of hypotenuses and a pair of legs congruent. A S5S
g _
,)(ﬁw’ 12, Triangles that have 2 pairs of sides congruent and 1 pair of included angles congruent. B. SAS

& )
14 ﬁmﬂ 13, Triangles that have 2 pairs of angles congruent and 1 pair of non-included

C. ASA
sides congruent D. AAS
_,g g,::g 14. Triangles that have 3 pairs of sides congruent E. HL

/ iSé 15, Triangles that have 2 pairs of angles congruent and 1 pair of included sides congruent.




Complete each proof.

16.

Given: ST || RQ, SR= RP, £SRT = LRPQ

Prove: RT = E
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Reasons
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2. ZRST=/PRO
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3. ARST = APRQ
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[PT= Pg " cpeTe
Given: AB=CD, £ADB and £DBC are right angles _ . g o
Prave: AABD“—.:ACDB _ﬁj
A L
. Statements Reasons
AB=ED, ¢ AbB=LDbc-%° _ Grives
2. ,-—v“ﬁ_» Z. Reflexive
BD= ED
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- Analytic Geometry
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More Practice with Proving Trlangles

Tura, ff

FEY

Daie:

Matching: Use the choices listed at the bottom in the box for problems #1— 4
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Statement Reason
1. IM=LO 1. Given
2. MN =ON 2. Given )
4. ALMN =ALON 4. S g
Statement . Reason
1. 0S | RT 1.
2. LR=/S 2.
3. A=/2 3.
4. QT =Qr 4
5. AQST = ATRQ 5.
Statement Reason
1. GI=KI 1. Given
2. H =J1 2. Given
3. LGIH=/KU |3 Veyptresf s
4. AGIH = AKIJ 4. S A
Statement Reason
. 1. AC| BD,4B|cD 1. Given
2. Lims4,2=03 2. 4/ anfn’or P
3. AD = AD 3. /Tc Llepive
4. AADC = ADAB 4. :

AAS
ASA

Alternate Interior Angles are =

Reflexive Property -
SAS
888

Vertical Angles are =

Choices for problems #1 ~ 4 (some will be used more than once):




Analytic Geometry

Fill in the blank proofs: '

Problem 5:
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Problem 8:
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More Practice with Proving Trangles

¥

Statement Reason
1. LI=2K 1. Given
2. LIH] = ZKJH 2. Given '
3. B =FJ 3. Lo fiew |ve
4. AHJK = MJHI 4. T Ach
Statement Reason
1. ZMIN = ZONL 1. Given
2. ZOIN=/ 2. Given
3. A =LY/ | 3. Reflexive Property
4. ALNO=ANLM |4, A S A
_____ Statement Reason
1. PO=0S 1. Given
2T A@E2" QR |2 Given ]
3. ZPOT=2R0S 13 Wertivad Ls =
4. APQT = ASQOR 4. <SAGC
Statement _ Reason
1. UV =UX 1. Given
2. ZNWU = ZXWU | 2. Given :
3. L W="]W |3. Reflexive Property
4LV = ZX 4. [Ase & eok L
5. AUWYV =AUWX |5. AAE
Statement - . Reason
1T 2y=sC |t Grven
2. YAS Ac |2 Given
3.L YAZ. =7 RA¢.3. Vertical Angles are »
4, AYZA=ACBA 4. A< A
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CPCTC WORKSHEET - Date IIour

#1: AHEY is congruent to AMAN by A/i-g .
What other parts of the friangles are congruent by CPCTC?

HYT =__ /MW
q £ Z:é = £ N
| EY =_ AW M
Y A
E N
#2:
] R acaT =ARAP vy ASA
A THEREFORE: |
¢ T =2 P bycrerc
T~ =_RP_ byCPCTC
: ) AT =_A&P  bycPcTC
#3:

Given: AC= AR and Ll = /22

Prove: 3= /4

Proof:
 AC=AR G—'ve n

L] =7 ,2 Gwen

1 1
2 2.
3. LCAL= ZRAS | s Vertal £ s =
4, AL 4
5 5

. ALCA = ASRA ALS
D= s4 CPCTC




#4. ;(‘E T/

L M

Given: ZNIM = /ZINOand LOLN = /MNL
Prove: /M =-20

0 LS/N
Proof: )
1. /NLM = /LNO 1. Grven
2. LOLN = LMWL 2. Given
3, LNE= (N 3. Reflexive Property of =
4 ALMN=a_AOL 4, - ASH
5. £9=L M, WWES /) WEM. 5. _CcpPcTC
#5 C
Given: AC = BC and 4X = BX
Prove: /1= /2
4] N — RN
1. /r]é%"@éz_ 1. Given A" X' B
2 CX = ET 2. Reflexive Prop. of Congruence
3. AAXC = A8 XC 3. S58
4, L1z L2 4, C PCTC
#6

W z
Given: /1= /2 and Z3= /4 273
Prove: XY = ZW 4

X" Y

Proof:
1. L/‘%Zﬁ- géjng 1. Given N
2. XZ=XZ 2. REFLE v e JRWERTF
3. AXWZ =4 Z T X 3. __As4
4 XY=z 4

CpPcTe



